
IN231100532V01_US_CA

84H-112V00

T
o

o
ls

 R
e
c
o

m
m

e
n

d
e
d

EN_IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

FR_IMPORTANT:A LIRE ATTENTIVEMENT ET À CONSERVER POUR CONSULTATION ULTÉRIEURE.

ES_IMPORTANTE, LEA Y GUARDE PARA FUTURAS REFERENCIAS.
PT_IMPORTANTE, RETER PARA REFERÊNCIA FUTURA: LEIA ATENTAMENTE.

DE_WICHTIG! SORGFÄLTIG LESEN UND FÜR SPÄTER NACHSCHLAGEN AUFBEWAHREN.

IT _ IMPORTANTE! CONSERVARE IL PRESENTE MANUALE PER FUTURO RIFERIMENTO E LEGGERLO ATTENTAMENTE.



PART NO. SIZE(mm) QTY

P3 1170*593 13

P1 813*526 2

P6L 521*576 2

P6R 521*576 2

P4 779*593 1

P5 606*300 1

P2 590*571 4

P7 1170*593 6

GP-N240   CARTON : 1/2

PART NO.
SIZE(mm

)
QTY PART NO.

SIZE(m
m)

QTY PART NO. SIZE(mm) QTY

1 1170 7 14 90 2 B4 2

1-1 1170 1 15 25 4 B5 5

2 1190 2 16 613 2 B8 2

3 1170 12 17 576 4 S4 1

4L 1700 1 18 613 2 S8 2

4R 1700 1 19 560 2 S9 2

12 475 1 W4 380 2 S2L 2

5 1190 4 21 1788 2 S2R 2

6 560 5 22 1190 4 S1 2

7 560 8 23 358 4 S3 6

8 1300 8 24 1785 1 F7 150MM 2

9 628 1 25L 604 1 F5 M6*12 156

10L 1665 1 25R 604 1 F2 M5*10 8

10R 1665 1 27 80 2 F3 ST4.2*16 1

11 548 2 28 240 2 F6 ST4.20*16 22

13 1641 2 29 240 1 F4 M4*16 4

垫片 F8 4

GP-N240     CARTON : 2/2







Item

Contents

 7 PCS

1

 12 PCS

3

 1 PCS

4L

 1 PCS

4R

 2 PCS

2

 4 PCS

5

 5 PCS

6

 8 PCS

7

 8 PCS

8

 2 PCS

11

 1 PCS

12

 2 PCS

 1 PCS

9

 1 PCS

10L

 1 PCS

10R

 2 PCS

14

 4 PCS

15

4 PCS

17

 2 PCS

18

 2 PCS

19

 2 PCS

16

 2 PCS

W4

Qty
MM

Item Qty

MM

 1170

 1190

 1170

 1700

 1700

1190

 560

 564

 1300

 628

 1665

 1665

 548

 475

 1641

 90

25

 613

 576

613

 563

 380

13

 1 PCS

1-1

 1170

Item

MM

Qty

 3



22

23

25L

24

25R

B5

B4

 ST4.2X16
M5X10

M4X18

 2 PCS

 8 PCS

 S1  S2L  S2R  S3

 22 PCS

F2

F4

F6

M6X10

 156 PCS

F5

F7

 4 PCS

F8

 S8

Ø5X0.6

 S4

 1 PCS

F3

 ST4.2X16

 2 PCS  2 PCS  2 PCS  6 PCS  2 PCS 1 PCS

21

27

28

29

Contents

Item Qty

P3

P6L P6R

P5

P6R P6L

P4

P
7

P
2

P
7

P
7

P
7

P
7

P
2

P
7

P3

P3P3 P3

P
3

P
3

P
3

P
3

P
3

P
3

P
3

P
3

P
2

P
2

P1

P1

 2 PCS

Item Qty

 2 PCS

 5 PCS

 4 PCS

 1 PCS

 1 PCS

 2 PCS

 2 PCS

 1 PCS

 4 PCS 2 PCS 1 PCS

Ø4X150

B8

 2 PCS

 4



12

P1

P1

F6

F6

F6

F6

11

11

13

13

B5

S4

14

14

 2 PCS

11

 548

 1 PCS

12

 475

 2 PCS

 1641

13

P1x2

 2 PCS

14

 90

 S4

 1 PCS

 ST4.2X16

F6

M6X10

F5

F3

 ST4.2X16

 B5

 1 PCS

 1 PCS

 9 PCS

 4 PCS

 S4

MM

 5



 6

F5x2

P1x2

 1 PCS

12

 2 PCS

F5

12

12

12

P1

P1

F5x2

P1

P1

a

b

Internal View

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



 7

 2 PCS

13

 1 PCS

11

 2 PCS

F6

13

13

a a

a

13

F6

F6

11

11

13

13

b

c

Internal View



 8

B5

 7 PCS

F5

 1 PCS

 3 PCS

F5

a

b

b

F5x1

F5x6

B5

F5x1

a

a

F5x6

B5

F5

F5

F5

Internal View

EN_Install the screws in
dvance according to the

instruction.
FR_Installer les vis à l'avance
en suivant les instructions.

a



 9

 2 PCS

14

4 PCS

F5

a

b

174mm

185mm

14

F5

F5

14

F5

F5

a

b

F5

F5

14

F5

F5

14

Internal View



 10

 1 PCS

11

 2 PCS

F6

a

b

a

b

11 11

11

F6

F6

F6

F6

Internal View



 11

 ST4.2X16

F3

S4

2 PCS

F5

1 PCS

1 PCS

a

S4-1

F5

F5

S4-3

S4-2

S4-1

S4-4

S4

a



 12

a

b

S4-2

S4-1

12

13

a

b

F3

S4-4

S4-3

S4-2

S4-2

Internal View



W4

18

17

16

17

 S8

F6

F6F6

F6

F4

P2

 2 PCS

16

 613

 4 PCS

17

 576

18

W4

 2 PCS

 613

 2 PCS

 380

 2PCS

F4

 8 PCS

F6

M4X18

 ST4.2X16

 S8

 2 PCS

 2 PCS

P2

MM

 13



a

b

F6

F6

17

16

17

F6

F6

P2

F6

F6

17

17

17

17

P2

16

16

a

a

b

 14

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



a

c

W4

18

 S8

F6

F6

F4

W4

 S8

F6

F6

18

W4

 S8

F4

b

b

c

a

a

 15



21

22

22

21

22

22

27

27

23

23

23

23

 4 PCS

22

1190

 2 PCS

27

 80

23

 4 PCS

 345

F5

 24 PCS

MM

 16

 2 PCS

21

1788



10

5m

 10mm
STABILA

MAOEIN  GERMANY

STABILAMAOEIN  GERMANY

STABILA

MAOEIN  G
ERMANY

90°

A 22

21

2122

22

22

23  X4

F5 F5

21
22

 X2

27

22

22

b

ba

23

b

b

b

A

a

a

Ø160mm

26
0m

m

2321

23

23

23
27

F5

F5

 17

23

23

 X4

2321
22

EN_The corner post needs inserted into the soil in advance 

according to the instruction picture. If not, Please install the 
corner post in reverse.
The foundation needs to be installed on a flat ground.
FR_Le poteau d'angle doit être inséré dans le sol à l'avance, 
conformément à l'image d'instruction. Si ce n'est pas le cas, 
veuillez installer le poteau d'angle en sens inverse.
La fondation doit être installée sur un sol plat.



 2 PCS1

 1 PCS4L

4R  1 PCS

F5  24 PCS

MM

 1170

 1700

24  1 PCS

 1700

 1300 2 PCS8

 3 PCS6  560

 1785

P4

P3

P6R P6L

P3P3

P3
P3

P3

P4P6R

P6L

8
8

4L 4R

1
1

24

 18



F5

1

F5

2121

a
a

11

a

 X2

 2 PCS

 4 PCS

1

F5

 19

 396mm

 396mm



a

b

F5

24

81

1
1

F5

8 1
24

24
8

8

a
b

 1 PCS

 2 PCS

24

F5
 2 PCS

8

 20

24

1/1-1
8



a

b

1
1

24
8

8

a a

b b

F5 F5

8
8

21

F5

24

 X2

 4 PCS
F5

 21

EN_Do not lock up the screws
FR_Ne pas bloquer les vis



a

b

a a

b b

4L 4R

4L/4R8

21

24

24

4L/4R
 X2

 X2

 1 PCS

 1 PCS

4L

4R

 22



a

b

P3
P3

P3

P3

P3

P3

P3  x3

 23

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.

EN_Remove the protect film
FR_Retirer le film de protection



P6L

P6R
P4

P4
P6L

P6R

4L 4R

 1 PCS

P6L

 1 PCS

P6R

 1 PCS

P4

 24

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.

EN_Remove the protect film
FR_Retirer le film de protection



 1 PCS1

 1 PCS1-1

10L  1 PCS

F5  12PCS

MM

 1170

 1700

 1300 2 PCS8

10R  1 PCS

 1665

 1665

25L  1 PCS

25R  1 PCS

604

604

P6L P6R

1-1
1 10R

10L P3P3

P3  x2 P6L P6R

 1 PCS  1 PCS

 25



F5

1

F5

2121

a

b

10R

21

8

 1 PCS

 1 PCS

10R

8
1

 1PCS

 3 PCS

1

10R

8

F5

 26

 396mm



a

b

F5

1-1

F5

2121

10L8

211-1

8

10L

 1 PCS

 1 PCS

 1PCS

 3 PCS

1-1

10L

8

F5

 27

 396mm



a

b

P3

P3P3P3 10L/10R

8

1/1-1

P3  x2

 28

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



a

b

F5

10L/10R

25L/25R

F5

1/1-1

25L/25R

8

 X2

 X2

aa b b

 1 PCS

 1 PCS

25L

25R

 6 PCS
F5

25L25R

 29

25L/25R

1/1-1 8



a

b

P6L P6R

P6L

P6R

 1 PCS

 1 PCS

P6R

P6L

10R

10L

a b

 30

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



 3 PCS3

MM

 1170

1788 2 PCS5

 1 PCS28

 1300 2 PCS8

P3

F5  16 PCS

 x4

 31

3

5

5

P3

P3

P3

P3



a

b

38

21

3

 X2

21a

 5 PCS

 2 PCS

3

 3 PCS
F5

8

 32

b a
333

88



a

b

P3

8

1/1-1

P3

P3

F5

3
 2 PCS

P3  x4

F5

 33

P3P3P3
P3

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.

EN_Install the screws in advance according to the instruction.
FR_Installer les vis à l'avance en suivant les instructions.



F5

a

285

5

 2 PCS

 1 PCS28

F5

5

 9 PCS

 34



a

b

F5  2 PCS

 35

a
c

b

c

5

5

c  X2

F5
5

3

b

 X2

F5 5

81/1-1

3

5
5



 5 PCS3

MM

 1170

1788 2 PCS5-1

 1 PCS28

 1300 2 PCS8

P3

F5  16 PCS

 x4

 36

5
5

3

P3
P3

P3
P3



a

b

38

21

3

 X2

21
F5

F5

 5 PCS

 2 PCS

3

 3 PCS
F5

8

 37

a

a
b

33
3 8

8



a

b

P3

8

1/1-1

P3

P3

F5

3

2 PCS

P3  x4

F5

 38

F5

F5

P3
P3

P3

P3

EN_Install the screws in advance according to the instruction.
FR_Installer les vis à l'avance en suivant les instructions.

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



 2 PCS

 1 PCS

28

F5

5-1

 9 PCS

 39

F5

a

28

5

5



a

b  X2

F5 5

81/1-1

F5  2 PCS

 40

ac

bc

5
5

c  X2

F5
5

3

3

5
5

b



MM

 1170 4 PCS1  1170

9  1 PCS

 5 PCS

 628

6  560

F5  29 PCS

P5  1 PCS

 41

1

1

1
1

6

6

9
P5



a

b

 2 PCS
1

1

1

 42

1

1

 396mm
 396mm



a

b

F5

F5
F5

 X2

 X2

F5  6 PCS

 43

a

b

b

a



a

b

 2 PCS
1

P5
 1 PCS

1

1

P5

P5

P5

11

 44

 396mm  396mm

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



a

b

9

 1 PCS

F5

 2 PCS

9

F5

F5

9

9

F5

F5

1

1

P5

P5

9

P5

1

F5

a

b

 45



a

b

P6R

P6L

1

1

P6R

P6L

 46



a

b

F5  6 PCS

5-1

1

1/1-1

25L/25R

F5
F5

5-1

1

1/1-1

25L/25R

F5

10L

10R

F5

F5

1
1

P5

 47

a
a

b
b

EN_Install the screws in advance according to the instruction.
FR_Installer les vis à l'avance en suivant les instructions.



a

b

6

F5 x3

6
F5 x3

6

25L/25R

4L/4R

24

6

F5  15 PCS

 5 PCS

 48

Internal View

bbb

a
a

6

6

6
6

6



 6 PCS3

MM

 1170

1170 2 PCS

 1 PCS29

 563 2 PCS

F5  40 PCS

 x6
P2

P7

 x2

19

7  563 12 PCS

 2 PCS

 4 PCS

 2 PCS

 6 PCS

B5

B4

B8

 S3

 F6

 6 PCS

 49

2

7

 S3

3

3
3

3

3
19

19

2

2

P7

P7

P7

P7

P7

P7

P2

P2

 4 PCS F10

 F9  4 PCS



a

b

F5

2-1 29
2-1

2

F5
29

F5 F5

 X2
2-1

2
 2 PCS

 1 PCS

 12 PCS

29

F5

 50

Internal View

b

b
a



a

b

F5F5

2-1

33

 X3

F5

3

5-1

 X6

2

F5

3

B5

5

 X4
3

 6 PCS

 20 PCS
F5

 51

b

b

b

b

b

b

a

a

a

EN_Install the screws in advance according to the instruction.
FR_Installer les vis à l'avance en suivant les instructions.



a

B5

3

F5

3

 X2

B8

b
 X2

B5

F5

19

B5

B4

B8

 2 PCS

 2 PCS

 4 PCS

 2 PCS

 8 PCSF5

19

B4F5

F5

F5

F5

 52

Internal View

b

b

a

b

b

a



a

b

 53

a

b

1

1

1
1

2-1

2-1



a

b

 54

F9
 4 PCS

F9

F9
F9

F9F9

2-1

a

a

b



a

b

 55

P7

P7

P7

P7

P7

P7

P2

P2

P7 1

P2

P7

3

 x6

P2

P7

 x2

EN_Tear off the film before inserted into the board and 
the side of white film needs faced out.
FR_Déchirer le film avant de l'insérer dans le tableau 
et le côté du film blanc doit être orienté vers l'extérieur.



a

c

7

7

 S3 F6

3

 X8

8

7

P2/P7

7

 S3

 8 PCS

 6 PCS

 F6
 6 PCS

 56

 X8

b

 F10
 4 PCS

7

F10

 X4

a

a

a

a

a

a

a

a

b

b

b

b

b

b

c

c

c

c



 25 4 PCS 15

 S2R

 S2L

S1

 F2

 F7

 F8

MM

 2 PCS

 2PCS

 2PCS

 8 PCS

 2 PCS

 4 PCS

 57

S1

 S2L

 S2L

 S2R

S1



a

b

 S1

 S1

1

1

1

1

2-1

2-1

S1
 2 PCS

 58

a

b



a

b

 X2

 S2L

1

1

5
F6

 S2R

1

1/1-1

5
F6

 X2

 S2R

 2 PCS
 S2L

 2 PCS

 59

a

a

b

b



 4 PCS
 15

 8 PCS

a

a1

F2

15

F8

F7

10L
13

15

15

 X2

 X2

 F2

 2PCS
 F7

 4 PCS
 F8

 60

S1

 S2L

 S2L

 S2R

S1




